N & o & AF & H A A
20179 = S0l& LB H AIEAMS A
M ANEAME
O AENY 2435
EHelr AIQIS2tAIE S 2 A 2te| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
A A AL & 1,085,912 955,907 130,005
ANENY 2435 617,590 602,639 14,951
ARSI 2HAIE o] x| H 2te| 617,590 602,639 14,951
AQlg et S X2el 412,507 391,056 21,451
101 @14 dl 2,087 1,786 301
4 D12t ZE2XREES 2,087 1,786 301
ORMZEZY o BFIY o=y
52,1603 »2H 20! 2,087
201 LBt 296,020 291,570 4,450
01 At 22l 52,060 17,600 34,460
Ot2R== 350,000& +128 4,200
Ool2sls HFFLYI 1,000,000& 1,000
ONAMZEH A2EHI 1,000,000 1,000
OEAMIAT E2HI 7,000 +x7Z 1004 4,900
O=EH & SH3Z S2AIMH
1,000,000& 1,000
OEAMNBAZHAIAHE AL 7,800,000& 7,800
Odstzeliid+== 8,000,000& 8,000
O&JIetd == 350,000& x12& 4,200
Oz ZHolelA &2 M- 250,000&~128 3,000
O&=J|2ell 400,000& =123 4,800
ol el 180,000& 123 2,160
OFRUAIE ZLotMAC A 10,000,000& 10,000
02 2324l 243,960 273,970 230,010
Oxt& =Xl 3,000,000& 3,000
OEAIIHLARS 2,000,000& x12& 24,000
OXdE=E&+Y & KAl 2,000,000& 2,000
OAgotdE 3l 100,000& 100
OANEZEIRXHI (HE2) 15,000,000 15,000
OANEZHIKRXLEI(HI], JIH, A8)
10,000,000 10,000
Oz 11,250,000& =122 135,000
O&ZJIK A&l 250,000& x12& 3,000
OdMERE =S 1,500,000& 1,500
OEMASUHYEZ 250,000& x12& 3,000
ORUSESZHIIAHLH R AL 10,000,000 10,000
O8¥3zE2==A 2,000,000& 2,000
OHdtl=ER3 640,0003 123 304 & 23,040
OdIIEHIRES 120,000& 120
O ZHl 1,500,000& 1,500
OCCTV S AlZ2ldl(160H) 1,000,000& 1,000




M ALY A
FH: ALY 2435t
SR AIYSZAIE S FFH2e

SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
OAolg 2 gD A28 Wi 2,200,000 2,200
O3 2 Hite & A (420m) L O XH(7740H) A
2y 4,500,000 4,500
Ozt&a 5 d42E3HI 3,000,000 3,000
202 O B 2,700 2,200 500
01 2L Y| 2,700 2,200 500
OARIg&AALFA 1,500,000& 1,500
OAMdAS L 3o FA 1,200,000& 1,200
203 € R =&lY| 3,500 2,500 1,000
03 AIHZ=X SR =AH| 3,500 2,500 1,000
OAMEAMNY A AIHAR2=XH| 3,500,000& 3,500
206 M=l 4,500 5,000 A 500
01 &2 bl 4,500 5,000 A 500
xS 1,000,000& 1,000
OXdsse 4A2F 2,000,000& 2,000
O&IKH 223 1,500,000& 1,500
401 AIEHIL 20| 54,000 67,000 A 13,000
01 A& HI 54,000 67,000 A 13,000
OB H& St 2 6,000,000 6,000
OAlRIg 2 HSI| B3 A 15,000, 000& 15,000
OZHE MA ED ZHEE DHZAH200H)
18,000, 000& 18,000
O3HE R0 MY S At 6,000,000 6,000
OMsa 204 2=+ 9,000,000 9,000
405 XHaHFE S| 49,700 21,000 28,700
01 JHAtY =2 ZF SHI 49,700 21,000 28,700
OBl 2QUEY ZHl 7Y 500,000 *330H 16,500
OMS2 SUEI0IIAAY Y
8,100,000 *14] 8,100
O2HE ALlAH P2 22,400
- AT A 4,600,000& =2CH 9,200
Mt ATAH 6,600,000& *2CH 13,200
O & A= 01013 22 500,000 *34 1,500
OR4d &22I|& 01013 ¢ 400,000& =34 1,200
HAad 23532 22| 205,083 211,583 A 6,500
101 2124 d| 13,083 13,083 0
04 JIZtH2ZXNEE S 13,083 13,083 0
OAaQa+dE CHMRA 2R Y 13,083
PAR=t=] 80,000& x2H x5! 10,400
=54 80,000& x2YH 10 1,600
-AABEEHZ 100,000& »2& 200




EAM: AIEAL

2 AIE M

A

122 A
=

SR AIYSZAIE S FFH2e

= - 4 14
SN P SA(EN) - MBAY - BES bt HlDE2
0 &t o
-aUHIRES 200,000 =2 & 400
IR = g = = 10,400,000& *0.0175 182
S EERE 10,400,000& *0.02888 301
2 B2 | 16,500 11,500 5,000
AtS 22l i 4,000 4,000 0
O+ A=sAE2Y 4,000,000 4,000
S22l 12,500 7,500 5,000
Oade=gdd==ZAFI =Xt 3,500,000 3,500
Oale=ZZE ANdEH S bl 5,000,000& 5,000
OMe+YT ALY HAMAZHE
2,000,000& 2,000
OS2 H AL R 2,000,000& 2,000
206 M= Hl 1,500 0 1,500
01 =4l 1,500 0 1,500
O=gZ% =sgEeE 7¢ 1,500,000& 1,500
401 AIEHI L 2 CHYI 174,000 187,000 A 13,000
01 A& HI 174,000 187,000 213,000
Ox=g & X EXSA 20,000,000& 20,000
OFAUEZ 2 S& =T AHE76mM)
22,000,000& 22,000
OFAds 2 =4 &5 FHSM
5,000,000& 5,000
O=gZ 6u&dl A 120,000,000& 120,000
Ox=Z& ¢E WH(7MH) 7,000,000& 7,000
STANE &5 338,260 231,464 106,796
2STANEY zIF 22 338,260 231,464 106,796
2z SAze 338,260 231,464 106,796
101 124 dl 6,260 4,464 1,796
04 JI12ZtHZ22HEE = 6,260 4,464 1,796
OSSE MEXY L ATY| A=Y
52,1603 »2H »30! 3,130
O&X &Y & steate] 52,1603 »2H »302 3,130
201 £B-2dH| 134,700 107,700 27,000
01 At 22l 32,200 5,200 27,000
OBAXR o A&22EY SAY|
7,000& x70L x5H 2,450
OXMLAREHI(EH, 0 S) 1,250,000 1,250
ORASUE AHZH 1,500,000 1,500
OAANEZFLEH=E 1,000,000& 1,000
OoorztZHl 8<%l 26,000,000& 26,000
02 232gHl 102,500 102,500 0




SHANZAE L
o SSHNL HE

ool 2

STAES zH2

A B O9(SA) - NRANY - BES il 2
OXg =Xl 3,000,000 3,000
OF=E~s=3_1:1 7,500,000& 7,500
OAEZHI S X 60,000,000 60,000
Ogleteld 28 x 1,000,000 1,000
OF3x 2=+ 3,000,000 3,000
O&II2E A2 ZH| 1,000,000 1,000
Otz &l s Xl 2,000,000& 2,000
Ose &l s Al 2,000,000& 2,000
Os83dAa 3,000,000& 3,000
OL2YAREH 1,000,000& 1,000
OFSE- o S DN RE gl i= | 500,000& *43| 2,000
OQI = ZCIK X 2eltl 2,000,000& 43| 8,000
OCCTVS Xl 2t el dl 500,000& *43| 2,000
Oz2s%d 234 A4 3,500,000& 23| 7,000
202 od4dl 1,600 1,600 0
01 SLHOYI 1,600 1,600 0
ozsdacl2dg 800,000& 800
OAlgAs & 3|9 &A 800,000& 800
206 M= Hl 31,700 31,700 0
01 M= 4l 31,700 31,700 0
O=2sd =H Zgad A3 2,000,000 2,000
OFZJ&d =gE detE)D| 20,000,000& 20,000
ONME & 2% 2el &3 7,000& *600 £ 4,200
OM=HM &l 5,000,000& 5,000
OM=2 & 4840|132 AU 2
500,000& 500
401 AIEHI L 2CHEI 160,000 86,000 74,000
01 A& HI 160,000 86,000 74,000
=30 &= 2 THESA 22,000,000 22,000
BEIE 222Z WA S AH(L=80m)
25,000,000 25,000
OBZRE gdA O=2Y B3 M
12,000,000 12,000
OS2 =& Ex3A 10,000,000 10,000
OBZRE F=XUE B3 WM SAH(180M)
14,000,000 14,000
O RE A BEx=ZA 15,000,000 15,000
O&stx 2=XelAld 23 A 11,000,000 11,000
OZOHCIEH AL HE B A 11,000,000& 11,000
OZEg2sd =2 UHSA 40,000, 000& 40,000
405 TtabF S| 4,000 0 4,000
01 AL ESFH SHI 4,000 0 4,000




SHANZAE L
o SSHNL HE

chel: 2SIHAL XL (EERED
SA - BB B () - MM - BES Ol &t o San HmEET
| | | OABCEHYHYI| 2 4,000,000 = 1CH 4,000
HESYAH (AEASA) 130,062 121,804 8,258
ol 2 A (A LAY A) 82,602 81,894 708
X HOIAHI (A E A &) 82,602 81,894 708
101 Q124 5| 82,602 81,894 708
03 RINHA22RES 82,602 81,894 708
OFAZRIQRY 82,602
-le3 982,180 3% 122 35,359
-4 012 982, 180 3% 4 11,787
=kl 589,300 2 %32 *23] 3,536
~AI 2l &gt 8,370 32«22 Al 2+ 128 6,630
-guz2esy 66,9602 x3% x22 x 122 4,822
ARSI ENSY 44,6409 +32 10 1,340
-=54Y 44,6409 32 #5232 6,964
= 982, 1802 * 12%*32 122 4,244
-F U gAY 80,0002 *3& x 122 2,880
-WSE X 60,0009 *32 12 2,160
bESY 80,0002 *3% * 12 2,880
JI=BH (A& AR A) 47,460 39,910 7,550
JI2 A (A E A A) 47,460 39,910 7,550
201 LBt2 Y 17,140 15,350 1,790
01 A2 22l 17,140 15,350 1,790
ORNSYAIR 22/ 10,000,000 10,000
O LAY 60,0009 1192 *12 7,140
202 04 Hl 26,880 21,120 5,760
01 2L 0d b 26,880 21,120 5,760
OJl=gR4a0itl (14Y) 26,880,000%! 26,880
203 A2 FAH 3,440 3,440 0
02 A& H R =X 440 440 0
OFIA LR ERIH 40,0009 11 440
04 BA2HARF Y| 3,000 3,000 0
ORN2Y Y2 EAH|(1521015})
250,000 * 122 3,000




